Math 251: Quiz 2 January 30, 2018

Name: /25

There are 25 points possible on this quiz. No aids (book, calculator, etc.) are permitted. Show all
work for full credit.

. [4 points] The temperature on a Fairbanks January morning is rapidly rising. The table below
indicates the temperature in degrees Fahrenheit measured once an hour starting at some initial
time ¢t = 0 hours.

t (hours) 213145
TCF) |[2]5|12[18 |23 |27

=)
—

a. Find the average rate of change of the temperature over the entire measurement period.

-2 2
RS gg = 5 "F/lesr
5 — |
b. Find the average rate of change of the temperature from hour 2 to hour 4.
25—"2 = _U:: g.BOF/LLew‘
-2 ¢

. [9 points] Use the graph of the function of f(x) to answer the following questions.

a. lim f(x)= l b. lim f(x)= L!/ c. limf(x)= /,/E

x—5F - x—5— x—5
a 16 4 e )= S (6= O
g xilg N (x) = S0 h )lcl—% flx)= l i x1_1>n_16 flx)= O
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3. [6 points] Compute the following limits. For each limit, justify your answer with a sentence or

two.

xy3 —> 2o+ 3

—= 2n
R As « uy ~
a. lim | T sml)—=> O,

x—27~ Sin (X>

217+

\/\ L\ o -
As o= Zj (x-2Y " —> OF sice
Q"Z%\ZO, S/O+2> +Q)

4. [6 points] On the axes below, sketch the graph of the function

x+2 x< -1
fx)=¢-2 x=-1
)ﬁ x> —1.

Then compute, with brief justification, the requested values in the table.

Value Justification
f(—=1)= The iw«o*l/or)
~Z )\&*Q(W“le
Jim @)= |, &(5455 ,
L (-
DVE | [y  [ey= 0
L
lim f(x) =
AR \M X42 = ~|42 = ,
\ <o

UAF Calculus | 2



